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line. The ordering (ijk) becomes the relation Dy + Dy +x = Dg + M—i— Ds. Likewise,
(ikg) — Dy + Xﬂ- Dy = Dy + Dy + X (jik) — Do + 5{-'— I ZA + Dy + D,
(ki) — Di+ Dy + Q& = Ds + X + Du, (kij) — DK+ Dr + Dy = Dio + %G + Ds.
and (kji) — Dg + DK+ Dy = %+ Dys + Dy, After some linear algebra, we find that

1Dy, Dy, Dg, Ds, Do, D1y, Dya} form a basis of Go.A=(1), and that the remaining diagrams
reducg to the basis as follows: D VQDG — Dy, Dy ¥ 2D5 — Dyo, Dy =% + Dyy — Dy,
D:'_ \ l__j'g + Do — Dg, and Dyp D11. 07 {—-O// -—O{
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